Prolog Programming Assignment
Please write the following prolog functions.

1.) Using only the assertions male(X), female(X), and parentOf(X,Y), write prolog functions that can find siblings and cousins.  Siblings are brothers or sisters.  Cousins are the children of siblings.
2.) reverseOdd(OriginalList, ProcessedList) take the OriginalList and creates the ProcessedList.  Lists at the top level (level 1 and all subsequent odd levels) are reversed.  Lists at level 2 (and all subsequent even levels) are copied rather than being reversed.
Example:

reverseOdd([a,b,c], P).

P = [c,b,a].

reverseOdd([a, [b, c]], P).

P = [[b,c], a]

reverseOdd([a, [b, c, [d, e]], [f, g]).

P = [[f,g], [b, c, [e, d]], a]

3.) There is going to be a wedding, and the seating arrangements are complicated.  Some people need to seat next to each others, and others cannot.  Some must sit at the same table, others cannot.  Write a prolog program that computes a seating arrangement that will satisfy the following constraints.

There are three tables, each seats 4 people (2 on each side).

a and j must sit next to each other, as must c and f and b and e.

a and e cannot sit at the same table, nor can d and c.

d and k must sit at the same table, though not necessarily next to each other.

i and l can sit at the same table, but cannot sit next to each other.

You may specify the constraints listed here as assertions, but all inferences must be made by the prolog program.

The function wedding(Table1, Table2, Table3) should instantiate the three variables to lists, where each list consists of 4 letters.  The first two letters and the last two letters in each list “sit next to each other.”  For example in the list [a,b,c,d], the pairs sitting next to each other are [a,b] and [c, d].

